HIWIN.

T™M Plug &
Play Version

with X-series
: BRI

Quick guide

ERPMERMNDABRL2E
HIWIN TECHNOLOGIES CORP.



TM Plug & Play Version with X-series Date: 2018.09.27 | Page: 01

@ @ Introduction

METEP P OEREITAR K,ﬁ% After reading this manual thoroughly,
T O BB R S B s { ¥ operator can not only familiar with product,
d BEJ\ivEp s v b2 ieim4 5 butalso can operate product completely
ﬁﬁ;ﬁs T T P WL FIAREW S independently. While operating product, use

ﬂ‘ V‘,

Mg 1 Fpd o ATk T Lo o 5 the method recommended in this manual to
FHaoF R E TP o AR S8 avoid product damage or personal injury.
FIEFE A B3EiTE > o This manual is applied to X-Series with

A IFLP T A AX 55 TM-5,
Z2LETMS i % o
@ 2% 4z @ Procedures

TM Plug & Play Version: X-Series
R Priv T K

TM Plug & Play Version: X-Series .............. P.2
WIRE PIN DEFINE..........cccccoervumrernrrneerrseesnnnns P.3

XEG-16 ~ XEG-32 % % i 42 W]
XEG-64 (. % i 42. )

XEG-16,32 ASSEMBLE FLOW DIAGRAM.....P.4
XEG-64 ASSEMBLE FLOW DIAGRAM .......... P.5




TM Plug & Play Version with X-series Date: 2018.09.27 | Page: 02

TM Plug & Play Version: X-Series

o HFRRRE:
XEG-32-C13L1-W1-TM

o REERHF:

1.ZE) R x 1 pcs

2. B x 1set (B TMEREZEHR)
3.BE424% x 1 pcs (3m-L or 5m-L)
4.1/0 #% x 1 pcs (1.5m or 3m or 5m)
5. Z BT H2F x 1 pcs

6.USB #R x 1 pcs

7. B EERR

® Model nhumber example:
XEG-32-C13L1-W1-TM
® Standard shipping items:

1.Electric gripper x 1 pcs

2.Adapter x 1 set (special type for TM)
3.Actuator cable x 1 pcs (3m-L or 5m-L.)
4.1/0 cable x 1 pcs (1.5m or 3m or 5m)
5.Electric gripper controller x 1 pcs
6.USB cable x 1 pcs

7.Power supply plug only




TM Plug & Play Version with X-series Date: 2018.09.27 | Page: 03

WIRE PIN DEFINE...........ccceorvrnnrriiiinnranenens P.2
YoBh R i %E% No. | Wire color | Pin define Co-rrx(-)lsler
Al Black INO DO.1 Al Black INO DO.1
A2 Red IN1 DO.2 A2 Red IN1 DO.2
A3 Yellow IN2 DO.3 A3 Yellow IN2 DO.3
A4 Blue IN3 DO.4 A4 Blue IN3 DO.4
A5 Grey IN4 DO.5 A5 Grey IN4 DO.5
A6 | Light Blue START DO.6 A6 | Light Blue START DO.6
A7 (Brown/Black| COM+ 24V A7 (Brown/Black| COM+ 24V
Bl Brown BUSY DI.1 Bl Brown BUSY DI.1
B2 Orange HOLD Dl1.2 B2 Orange HOLD Dl1.2
B3 Green ALM-CODEL1 DI1.3 B3 Green ALM-CODE1 DI1.3
B4 Purple |ALM-CODE2 Dl.4 B4 Purple |ALM-CODEZ2 Dl.4
B5 White CHK-CODE1 DL5 B5 White CHK-CODE1 D15
B6 | Light Green [CHK-CODE?2 D1.6 B6 | Light Green [CHK-CODE?2 D1.6
B7 | White/Black COM- GND B7 | White/Black COM- GND

® R i3I TMRobOtT #rfa2 w8 » ik iE%?* 2 TMRobotE f 54 2 Hip B2 A HWEP § 5 ¥ -

® Please follow your TM Robot’s User Manual in accordance with the hardware version to have the correct connector
location of each pin.




TM Plug & Play Version with X-series Date: 2018.09.27 | Page: 04

XEG-16 ~ XEG-32 % 5 /i fR R <ecceveeeeeee-P. 4 XEG-16,32 ASSEMBLE FLOW DIAGRAM.....P.4

11 Bolt M4X0.7PX6L SUS304 4
10 | Spring washer M4 SUS304 4
9 Pin $6X10L 2
8 Bolt M3X0.5PX5L SUS304 4
7 Spring washer M3 SUS304 4
6 | XEG-16 adapter — 1
5 Pin ®2X4.4L 2
4 Bolt M6X1PX8L SUS304 4
3 Spring washer M6 SUS304 4
2 TM5 adapter — 1
1 Pin $6X10L 1
Ttems Parts Description Amount
XEG-16 & TM5
11 Bolt M4X0.7PX6L SUS304 4
10 Spring washer M4 SUS304 4
9 Pin $6X10L 2
8 Bolt M4x0.7PX6L SUS304 4
7 Spring washer M4 SUS304 4
6 XEG-32 adapter — 1
5 Pin G3X4L 2
4 Bolt M6X1PX8L SUS304 4
3 Spring washer M6 SUS304 4
2 TM5 adapter — 1
1 Pin $6X10L 1
Ttems Parts Description Amount
XEG-32 & TM5




TM Plug & Play Version with X-series Date: 2018.09.27 | Page: 05

XEG-64 2 % /i #2. B . XEG-64 ASSEMBLE FLOW DIAGRAM......... P.5

11 Bolt MBEX1PX8L SUS304

10 | Spring washer M6 SUS304

9 Pin @5X6L

8 Bolt MBX1PXBL SUS304

7 Spring washer M& SUS304

[ XEG-64 adapter —

5 Pin PEXEL

4 Bolt MBX1PXBL SUS304

3 Spring washer MG SUS304

2 TM5 adapter —

1 Pin PEX10L
Itemns Parts Description Am

XEG-64 & TM5




	投影片編號 1
	投影片編號 2
	投影片編號 3
	投影片編號 4
	投影片編號 5
	投影片編號 6

